
MÅL
Per 1 00:57 1—0 Lars-Erik Lundström

Utan assist

Per 1 08:38 1—1 Nils-Olof Boström
Utan assist

Per 1 10:55 1—2 Kjell Andersson
Ass. Sven-Olov Danielsson

Per 1 16:29 2—2 Lars-Erik Lundström
Utan assist

Per 2 04:11 3—2 Bror Hansson
Ass. Olle Dahlqvist

Per 2 07:36 3—3 Leif Sandström
Utan assist

Per 3 00:43 4—3 Lars-Erik Lundström
Ass. Christer Johansson

Per 3 16:07 5—3 Lars-Erik Lundström
Ass. Lars-Olof Strandberg

Per 3 17:44 6—3 Lars-Olof Strandberg
Ass. Lars-Erik Lundström

Målvakter:

Backar:

Forwards:

GP W T L GF GA GD PTS

Karlskoga/Bofors 10 9 1 0 86 - 21 65 19

Mariestad 10 8 0 2 44 - 30 14 16

Grums 10 7 1 2 45 - 30 15 15

Viking 10 7 0 3 59 - 38 21 14

Munkfors 10 6 1 3 51 - 49 2 13

Forshaga 10 6 0 4 47 - 26 21 12

Skövde 10 4 2 4 53 - 56 -3 10

Deje 10 3 1 6 46 - 51 -5 7

Kil 10 3 1 6 29 - 56 -27 7

Uddeholm 10 1 2 7 45 - 66 -21 4

Trollhättan 10 1 1 8 25 - 54 -29 3

Sunne 10 0 0 10 26 - 79 -53 0

Föregående match mot FIF: -

Hem: http://www.skovdeik.se/

Föregående match: http://skovdeik.se/files/gamefacts/matchfakta_189.pdf

Nästa match mot FIF: http://skovdeik.se/files/gamefacts/matchfakta_199.pdf

TABELL

LÄNKAR

Nästa match: http://skovdeik.se/files/gamefacts/matchfakta_191.pdf

SUNNE IK 3 — 4 KILS AIK
IK VIKING 7 — 4 UDDEHOLMS IF

IF KARLSKOGA/BOFORS 10 — 3 IFK MUNKFORS
SKÖVDE IK 6 — 3 FORSHAGA IF

DEJE IK 7 — 2 IFK TROLLHÄTTAN
GRUMS IK 1 — 2 MARIESTADS BoIS

RESULTAT

Serie: Division II Västra B

Omgång: 10

1. Jan Nissmo 15. Lars Dahlqvist

2. Rolf Wigholm 3. Jan-Erik Pallovaara 5. Pertti Ruotsi 18. Benny Brandt 22. Kent Johansson

4. Bror Hansson 6. Conny Trygg 7. Lars-Erik Lundström 8. Lars-Olof Strandberg 9. Jan Hagström

10. Karl-Bertil Ljungström 12. Olle Dahlqvist 13. Christer Johansson 14. Anders Pant

Utvisningar, SIK: 2 x 2 min

Utvisningar, FIF: 3 x 2 min

Domare: Gösta Blomgren, Hjalmar Lindstrand

Skott: 28—29 (10—11, 7—9, 11—9)

Serie: Division II Västra B

Omgång: 10

Arena: Södermalms IP

Publik: 699

Datum: 1967-12-13

Matchnr: 190

MATCHFAKTA

SKÖVDE IK — FORSHAGA IF
6—3

(2—2, 1—1, 3—0)


